


Create-A-Bed
® 

LLC 
PAGE 1 

FULL HORIZONTAL (SIDEBED) murphy bed mechanism 
PLYWOOD CONSTRUCTION 

' 
I 

I 

Two (2) ADJUSTABLE UPPER PLATES with 
four ( 4) "T" NUTS with MACHINE screws 
two (2) BALL STUDS 
two (2) BLACK BALL STUD SPACERS 

Two (2) ADJUSTABLE LOWER PLATES 
with four (4) #10 x 1-5/8" screws 
four (4) "T" nuts with machine screws 

Two (2) BED STOPS with two 
(2) # 10 x 3/4" black screwsTwo (2) GAS SPRINGS 

Two (2) ELAS
T

IC MATTRESS 
RETANING STRAPS 

' 

Two (2) pair of METAL PIVOTS 
with two (2) plastic spacers 
two (2) "E" CLIPS 
four ( 4) "T" nuts with machine screws 
twelve (12) #12 x 3/4" silver screws 

One (1) CONSTRUCTION booklet 
One (1) ASSEMBLY AND INSTALLATION booklet 
Online Video: bit.ly/deluxehorizontalvideo 

© CREATE-A-BED® LLC 2014, 2017, 2018, 2021

' 
I 

Two (2) Metal Pivoting Legs 
Two (2) 1/4" x 2" Leg Support Rail screws 
Four ( 4) Black # 10 x 3/4" screws 
Four ( 4) "T"nut with machine screws 

Protected By U.S. Patents #8,850,637 , #8,898,831 
Protected By Canada Patents #2,871,969 , #2,897,339 
Protected By China Patent #ZL 201380032662.0 
Protected By Mexico Patent #351674 




























































